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1
Decision/action requested
Agree ongoal and problem scenarios of HO, and add the corresponding requirement to TS 32.521
2
References
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Telecommunication management; Self-Organizing Networks (SON); Self-optimisation and self-healing; Concepts and Requirements
[2]    S5-081322        Guideline for stepping of self-optimization

3
Introduction
This document is the follow up paper of [2] which discusses the goal and HO problem scenarios and intends to add the requirements of the HO parameters self-configuration and self-optimization to [1].
4 Detailed Proposal
It is proposed to discuss the following text and add the Goal and Problem Scenarios on HO parameters optimization to draft TS 32.521 section 5.1.2 and section 6.1.2 according to [2].
---------------------------------------------1ST Text Changes Begin-------------------------------------------
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Business Level Requirements
5.1 

Requirements

…
5.1.2 

Handover (HO) Parameter optimisation
REQ-HO-CON-XXn: The Goal of HO Self-Optimization is to get higher HO success rate for certain cell-cell neighbour couple with minimised operational effort
---------------------------------------------1st Text Changed End--------------------------------------------
---------------------------------------------2nd Text Changes Begin-------------------------------------------
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Specification Level Requirements
6.1 

Requirements

…
6.1.2 

Handover (HO) Parameter optimization
Different kinds of problems shall be detected which need to be distinguished as well to help the OAM make the right and accurate decision for optimization. Here are the listed HO optimization problem scenarios:
1) Ping-pong HO

In case the Hysteresis and offset are not set very appropriately, the HO can happen very frequently which increases the signalling interaction between the network and the terminal, which definitely deduces the quality of service. Furthermore, the call may drop due to too many HOs which causes the subscriber’s experience may be very bad. 
2) Radio link failure occurs right after the HO
This is because the target cell has a blind point in the HO area while the source cell covers the point very well.  When the handover happens before the blind point, the radio link failure will occur right after the HO.

[image: image1]
3) Selecting a new cell right after the radio link failure

When the UE encounters radio link failure, then the UE drops the call, but when the UE performs cell reselection, it selects another cell which is not the cell where the UE dropped the call but the neighbour cell to the source cell. This is because when the UE is moving to the target cell, the signalling strength of the UE in the source cell is becoming very low for the inappropriate the Hysteresis (if it is appropriate, the UE shall HO to the target cell), the call of the UE may drop. 
4) HO to another neighbour cell right after HO from the neighbour

This situation means the UE HO to a neighbour cell and then HO to another neighbour cell right after the first HO occurred which indicates the UE has only camped for a very short period in the target cell. This problem scenario means the UE is not suitable to HO to this neighbour cell. 
5) HO right after the initial RRC connection is established. 

The UE handovers right after the UE’s status transferred from idle mode to connected mode. This scenario indicates the cell reselection parameters are non-aligned with handover parameters. For cell reselection, the parameters to be modified can be Qhys and Qoffset
REQ-HO-CON-XXn: The above five problem scenarios shall be detected and recognized by the Networks, either by eNodeB, EM or NM.
---------------------------------------------2nd Text Changed End--------------------------------------------
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